N = 0l & At & Ml A

2018 & =04k XIot==2elEESIAH A
SN BEAMD
M JHRGtD AHFE =g 22
¢l Xot==0122g3 S (X2 SE3AH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
B 2 M 1,544,349 1,544,071 278
RSt otEE H=2 2te| 1,544,349 1,544,071 278
Aot=0182=22 U (XNot==22ISLIH) 1,544,349 1,544,071 278
Ast=0lERES 2 - 29 97,646 137,399 A 39,753
101 @14 dl 13,814 11,147 2,667
4 D12t ZE2XREES 13,814 11,147 2,667
OJIZHZ=2XRHE = 13,814
—OlAH|(F 9 L&) 66,630 *1H*180L 11,994
- ZAsSEE R 11,993,400& *4.5% 540
-DUABBER 11,993,400& *3.06% 367
-1E2EE 11,993,400& *1.5% 180
- MHEEZ= 11,993,400& *0.9% 108
LI RYEE=E 366,990& *6.55% 25
-HEYOM= 300,000& x1H 300
-SXNEQUE 300,000 »1H 300
201 2yt 2 Y| 24,272 24,002 180
01 At 22l 20,890 20,710 180
OXiste EX2=2 =FHZA
300,000& *27H 2 23 16,200
OXot==0l82d3 DA M 602 *8,0000H 480
OdioldEZed EW 2L 180, 0002 8K 1,440
O=ALEX ¢ 490
- A 20,000 » 14 A 280
-A3 21,0003 »102 A 210
OXot=gRF= HNA Sl
8,000 x3H 541« 123 1,440
OXIots AMEHZ AR TSI 840
-== 140,000& »3H 420
-ot= 100,000& *3H 300
-5 40,0002 »3H 120
02 2324l 3,382 3,382 0
OXot=0l22Ea LANA &&E523 2,134
— gt 3003 54001 x12& 1,944
- Sl 1,900& 100 190
OXlots B2 S4ldl 1,248
-S4l 103,950& 128 1,248
202 4 Hl 2,160 2,160 0
01 = LHA YI 2,160 2,160 0
ORXicts AEIZAL & =EZ A 04l
20,000 x3H »36 3] 2,160
203 IR =AYl 1,000 1,000 0




SN B
25

RS
¢l Xot==0122g3 S (X2 SE3AH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A F=XH R =ZH| 1,000 1,000 0
OXigt=2te] AlME=XY P =] 1,000
401 AIEHI L 20 56,000 99,000 A 43,000
01 A& HI 56,000 99,000 243,000
Ogxs daad=+ 1,000, 0008 23 2,000
OXdts BExas2 2|l
10,000,000& «3H £~ 30,000
OXlots Ex2=2 Xl
12,000,000& «2H 2~ 24,000
405 XHobF S HI 400 0 400
01 HatH ESFH S 400 0 400
Odold=Zed 7 400
ol g1yl 1,446,703 1,406,672 40,031
801 GilHI bl 1,446,703 1,406,672 40,031
01 Brolli bl bl 1,446,703 1,406,672 40,031
Ououlgl bl 1,446,703




